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Another Yardstick 





Standard Deviation (sdev) & 
Standard Error (serr) 

sdev:   18.41  ±  1.75 

Acid-Soluble Iron in 160111 

serr:    18.41  ±  0.21 



Standard Deviation 

Dispersion of all results from 65 labs 



Standard Error 
Dispersion of means from multiple sets of 65 labs 



Standard Error 

Provides estimate of the “true” mean 



Standard Error 

Provides estimate of the “true” mean 

The higher the number of labs, the better the estimate. 

Standard error = robust mean /          n 




